H

67 & T E ¥ E i % B B =

(&8 WAMRHXEE B3 Y ME

T = % Fr M B W ™ MEE  # N
I = % WEHAR—Y T RFA—LKETE
=ERE FEREMIE EEn
I = %
SF25E12H 280 BRE (EE)
ZHDHE LY SFI3E3H29HET (Y )
T # o =
4 5 B ¥ #ERE

EAREL (ZIZw)EHSA) « « « 15

TROLAHET - - - 1K
I = #§f =

ATABY  RFXBET -« « - A=103n




ik 4B My % B i G i
EETEE
A BETE =
ERTER
SBERE N
RpERR N
— R =
HLEEF
& 3
2 B 42

(118)



i

pefll

4B _ = BAL % & B & B B_=

BET=E

fRETE K 1
EERERTLE =Y 1
- 2 = 1
)b ILE =9 1
Ry—PLE =K 1
TNy T K 1
KT Y 1
BEETE 7 1

(218)



v 4 i w_= BT ¥ E i & g =
1 fEETE
o F— A m 20.80
X0 ot 5.40 |
RAH ni le
|
BRET—Miyh T e ot 4.05
RAEMNLS t ‘ 1.242
/I it

(118)



A £ i EAL ¥ E fif & B fi
2 EEREIE

BYE &FL m 116.20

=5 m 116.199

B AT o 116.199

7N

2]

(21R)



&= £ Hir % B i & #E &
tI=%
Bex m 2.56
el nf 0.096
BRL BRREL m 2.14
L BREERLL m 0.42

/[N i

(317)



4 g ’ bl = EfT ¥ E H & £ g =
)+ ILEHE
SR nf 3.04
EEE ) -MTERFME i 0.32
EpEa y)—h i 0.32
TRV -MTFHE i 0.54
+Rav7)—h n 0.54
N B

(418)



J
l £ % % = By M B B & & B =
Ry—bLE
o VERY =} BYE TE nf 5.40
ERV-F THIFAE nt 2.73
ERV-F P B3R nf 2.73
BEET—Miyh 900 X900 T 5
|
I8 z

(51R)



k=a 4 g il AL ¥ E 5 fig
6 WETYEFIE

TVATyy (FZE) 143X 33

TNT vk PRER |L=1995 400%& € :F=)— RE&EUE | of 102.50
TVATy (FZ2) 150X 20

Ty N T vE EAR |L=20000 904 f&:fzo— FLELUE | m 48.50

=324 W3266 X D300 X H160 X 153FT nt 1.50

RA & 178.00

RO AT (600X 600) EET 1.00

/I &

(6IR)



b=l

5 4 i w = BAAL ¥ E BH & & B =
Bk ITE
ZIZwHEIKAFRPEREK | (BEEREEARMARE & 1.0
BEE KB E - RETE HBAREERTE = 1.0
/I i

(71%)



T

ajn

L

i £ I
8 EETE
7 =NiEE i 1.0
EfE = 1.0
RS EUTE N 1.0
7 Ei

(81R)



